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HELLO EVE ERYONE!
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Let us see the first sentence:
gl paaily JiElh S5 i ¥l e sl 209 cuailly m@
Student: The violence 18 associated w1t!1 anger and in many cases takes
the form of murder, destruction and shattering.

Professor: good. Who else?
Student: The violence is associated with anger and in many cases takes

the form of killing, destruction and smashing.
Professor: good

e (Kl (ciall) O s LY (the) et 0Y 3osp-a lia
violence ;<isll -

anger scuasll -

killing :J

destruction : el

smashing :pai¢dl

We can say,
Violence is associated with anger and, in many cases, takes the form\

of killing, destruction, and smashing.
Faok

Go on:
gmwwu@ucfﬂ};m\g@o‘t@mue&;,uy\o“uwh“oﬁ
bl e wualill e

Student: Naturall —IF in_certait
Th_______ urally, man cannot control himself in certail cases.
erefore, he finds an outlet by expressmg his agitation.
Professor:

(sensations) 4l st of Qi) a g o(lint) S () 2 (agltatlon)

cases >

outlet o puiide -
/
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angry expression ioaalal juaall o
scnsations Ylaail -
We can say, o
It is natural/normal that man cannot control himself in certain ca\ses,1
therefore, he finds an outlet in the angry expression of his sensations.
Student:

T(Auads dlay) inms (endure) daill aasius o oSay s

Professor:
- Endure: Gaby/daisg

U Jucail (control) drill Al (s e jhasay) slinad (i ellag) W43 Ll

* ok k

Continue please:
gy @lai Gle LVl 30aT el | 3yall call,
Student: Violence is a widespread social phenomenon.

Professor: very good. Who else?

Student: Violence is a social phenomenon that is spreading on a large
scale.

Professor: very good.
We can say either (a widespread social phenomenon) or (a social
phenomenon that is spreading on a.wide scale).
phenomenon :(3i<) 5_atk
phenomena :(aas) jalgh -

We can say,

Violence is a widespread social phenemenon.

Or:

Violence is a social phenomenon that is spreading on a wide scale, j
¥ %k

Let us see the last sentence:
- - . 7
ezl Gadiey Jsb- 2y Gle glaia¥ly 3yl Gudihl clale Jan vogall 1is 2, ‘
.‘&9_3"91‘ B)AU&M PRV B

Stedent: For that psychologists and the educational scientists work fo
develop solutions to get rid the society of this harm ful phenomenon.
Professor:
OS5 (e alihy) olies Jghiing iy yaa et e ke sed (1o get rid of) J dnailly
(0= w=ldh) Gn G dUgd ((0a puindll Galsy) Gl (to rid society of) aadiwi L
| (EE O P
- To get rid of: (e palady '

N
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- Torid of: e palsy
Student: ,
In this regard, psychologists, educationists and social scientists are
working to develop solutions to rid society of this harmtul phenomenon.
Professor: good.
| (sociologists) pxsis o)} (Sa glaia¥l slalal dailly
Student:
“(pedagogical scientists) o)} (Ruil elale) an 5 O Say Ja
rofessor: yes, you can.
- Pedagogy: 4u Al Jle
Student:
?(educators) Il (Ruill elede) ax i of S Ja
Professor: (S
in this concern :pasaall 13 & .
psychologists :ouiill slale -
educationists :Auill elale -
sociologists :Flaia¥ elale -
propose solutions/develop solutiops :Jsl> gy -
‘ to rid :padsdl -
_ - harmful phenomenon :4:3343 ala -
We can say,

In this concern, psychologists, educationists, and sociologists are
proposing/developing solutions to rid society of this harmful
phenomenon.

- Propose: sl ) by ji/bba iy

- Proposal: ¢ s

(proposal) s b yliall Ay e Ostuaball Qllh 4s iy Lg.k“ t_,,o.a‘yx“ S\
* ok ok ok % ok

Let us have a new text. Write down please:

Desertification is natural phenomenon that has been associated with
our modern history for more than one thousand years. This phenomenon
is attributed to two factors: the first is related to nature, while the
second is related to man’s utilization of land.

One of the most natural causes is erosion which is the receding of the
plant cover znd its washing away by the act of the winds. It is natural
that erosion becomes severely acute with the increase in the speed of the
wind, the most important of which are tornadoes, or an increase in the
speed of the water, the strongest of which are torrents, especially if the
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vegetation 'cover is loose, The human causes, however, manifest
then?selves In the residential pressure on environment which in turn is
manifested in man’s encroachment on natural plants.

Read the text, understand it, and then try to translate it.
ok ok

Let us see the first sentence:

Desertification is natural phenomenon that has been associated with
| our modern history for more than one thousand years.
Student:
A ll o S da jealaall/ysall sy )5 i i pada 8 jalls el
Student:

dnilly Alaall hans o))y sikall (e il
Professor:

Aax Ay jall Al 008 ol oSy (g (I8N gy Tag ol oSy I By pud Alan o2a
dlas)l Gy (noun clause) oe 3ke (that has been associated with)y e
Alaall oy 8 e sl (i) o Lelad Al Al

Student:
- foh L s ol oSl
A Gl (e i1 N Guaall B3y G Lapla 8 aUS jauaill s
Professor: HE

ua.\.“q.sd_gi_,.\_, (“’.\myiua-\hucc_,);\hﬂ_,aﬂ‘ a e Al A i
(ol Lasi ) Ul (desertification is associated)

Who else?
Student:

A Gl pa ST i Caall sy ) Aad o Byagda 5 Al el )
Professor:

oS cJelil) g g Juillg Al gl Alaal) cils 1) ) () - Maadt ad o) b 3 0
(0) i B 5 puim Hla Gad £ 5l 108 G e
- Desertification; sl
- Associated with; <l ji
We can say,
etz lf e 6T S Syl L5 g 23015 Banl 3508 sl }
ok ok

Go on:
This phenomenon is attributed to two factors: the first is related to \
nature, while the second is related to man's utilization of land.

Student: ) . | . .
) 4t Ly Jas ya 8l 5 Aalally s 5o J 91 1081 Olele N poallall e3a (s 3ady
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Professor: :
(o= i) M/ Jleatial) J 56 o) (K

- Utilization: JMaiul
- Is attributed: caui¥s
| .(passive voice) Lyl Ua
. We can say,
Uhm\'\ Il Jlesiwly u!\.d‘j Leudally Ly d}ﬁ” onlale) 3yaUa o0n (5).u/4_uuu
' -0l
1ol Alanion dasd a5 (dadiad) Ll =2 1343 (T use someone) Js8 Ladie

¥ k%

Go on:
" One of the most natural causes is erosion which is the receding of the
plant cover and its washing away by the act of the winds.

- Erosion: 4=l
Jaiy aad Ay Lupaall (8 Wl py A 3y peilly sl alge o Soaa Ll (]

. CL‘J'“
- Receding: asl i/ sl
Student:
pLLaJig.atsl_)Jl_,ACLU]\U:mMIM}J\Ju;l\WQJluquuthleM‘y
...... il
Professor:
Sl i 5 Gy el g A il
Student:
Jaiy 4l 3l Al eUasdl aon i e Aol &y il g Aglall ClusY) aal (e 28y

ol
Professor: good. Who else?
Student:
ol pUbdll aal i 4 aalyy 4y paill s 5 alall odg) dyaylal Pl aal gasl
Zholl dedy s jlausil g
Professor: fine.
- Plant cover; i ellat
- Washing up: <l il

We can say,
e

bl Jody iy LAl claitl Hlusil oy 3yl dungdall L el 023
KKk

—

Go on:
r It is natural that erosion becomes severely acute with the increase in
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the speed of the wind, the most important of which are tornadoes. or an
increase in the speed of the water, the strongest of which are to'rrent
especially if the vegetation cover is loose. >

Student:
sy o oate V) Leaaly Lol Aoy oo Lavie ] 4 yail) 5 o) ekl
: Al o Uall s sie Sl & “‘.-"‘U‘
g—‘ & ummu\.:._,d,.ul‘. ‘\.A.\JA‘_,OL)AM&L)»

Professor:

M (loose) - Apmallys (had/lgian da3i) Joii of Ule (severely acute) - Al
What about (loose) here? (OhE)
Student: i
Student: U=
Professor:

Lia 3 geasalld ¢(Sluldio 52) b (Cam) Jsi o WS W)y (Oin) Jsi of LiSay ¥ la

st 058 Of aakain Ol 4 5l 312000 Al sUaall ) G113
- Severely acute: W3ad/lgias ala 3 ’
- Tornadoes: s=lc|
- Torrents: Jsm
- Vegetation cover: (i sthe
- Loose: dluldia b/ iy

ey shia)! _3‘ n)._..uaLQ‘Y‘ Lw\_, zh Aepu sbissbh Bas &, ala3 ol aglall e i

wiluleie jui LA elladll OIS 13 L Wy Jgand! Loy oLl

R () o0 On (m Y) U5 of Gy ¥ ol (L V) J55 () o of Like
Loy (\.A.u.u) \’M \JL:.:\J

%%k
Go to the last sentence:

The human causes, howevetr, manifest themselves in the re5|dent|al
pressure on environment which in turn is manifested in man’s

encroachment on natural plants.
Tyl byl ol Gl dilial ) e

Eiaatie ddaall o2a l.é"

Student:
Sy Al e S Lua s w AL b g il Ala) st Zguailly
d.\:\..uu uLuuY\ L.“.@.LI\ dj\_s L)’“ LA:-MU:J_,.\J

Professor:
5 () S (0a9) o () o () 5 (manifest) O3 () i uu)
Galy (LIS Ty e 3 (53l 2K N () ol () d)z:dw :ﬁl):h
B e o
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- Manifest: ww/@ﬂ/&@/gzii@
. Residential pressure: (S

_ To encroach: to violate (Sei)

- Encroachment: (/g )

- Natural plants: eyl iyl

_ Wecansay, - . 5 —
| gan 2 Juy 09 gilly Ldl Sle <! daiially Jramd &5l Qlel Wi

Apmdall @BLA Gl Ly

* %k

HOMEWORK: = -
T Lenbls sually Lisuslly SISV clmdl le il ITIEE [Nt UL U

o) Jiied jgayl G ety et ‘.tww =y dgaw g 3‘ (PRPRES] 31 Lgiseud e
AU el s 2. cueye )iy Q! Guad lld le oj)".c ‘5)9-‘ JLS&\ 3\ =L.m\ !yl
adlilly oLty aolall O Lo yumsi 2 Lol eyl Gle 1) _)54‘03‘ S ansle ]
Sema Dl oS 2 ol i ekt Hlas ulhysl Gle @l 3)u3 (43 Lade Lgiin g
Aoy g I Jso gl o PNAN sl

b Rl g G Gl il Sy e shaally 31 g3 (ol gt Wy O g3l gl
AW e

by geaiall GIYL udy Ui 83 gaaadl CRlYL iSS (Li 9o) AalS O ) oL s

Thank You
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